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Choose the correctly spelt word.
(1) Defalcation

(2) Difalcation

(3) Defalcasion

(4) Defalcatation
fafafEn & Tevg s &
(1) &

(2) T

(3) =

(4) ¢

1[Option ID=19201]
2[Option ID=19202]

3[Option ID=19203]
4[Option ID=19204]

Sl. No.2
QBID:1555022

Given below are four sentences in jumbled order. Select the option that gives their correct order.

A. Once on their way, the stones did not stop until they reached the bottom of the hill.

B. You had to be very careful not to start a landslide.

C. Loose stones rattled down the cliff.

D. And they took other stones with them. so that there was soon a cascade of stones.

Choose the correct answer from the options given below :

1) C.A.D.B
(2) BA.D.C
3) B.C.A.D
(a) C.D.B.A

4 & P fAU U §: U SHTUHYUT (Assertion A) & ¥ T [aRad & ol GIRT 39D PRUI (Reason R) P ¥ T:
T A ; TPRIT I8 W B © |
BRUIR : A T YR 8 | $S Ued 39dIE 61d ©. SUIEY PRI 8Id 5T 1 I Wi 781 & |

SURIEd DU & i . -1 U e fdeedl T 8 9ad Sugad SR D1 941 BIfery |

(1) A SRR IA TG § IR R A D Tg AT §
(2) AJRREH TSI E AfFTR AT IS e T8 ©

() AGEI R AP R TSI TS
(@) AGeiEieafPIRTEl B

1[Option ID=19245]
2[Option ID=19246]
3[Option ID=19247]
4[Option ID=19248]

Sl. No.3
QBID:1555023

Choose the correct sentence.

(1) We went to the station to see them off.




(2) We went to the station to see them out.
(3) We went to the station to goodbye them.

(4) We went to the station to say them goodbye.
Hi9 31 w4 iU U § 0% fHFYA (Assertion A) F w9 # [0 & @ g9 99 SRU (Reason R) & ¥4 #:

HfyeyT A« TomT e Syafd 2

FRU R ; BT 3@Rid Weg ¢ | A7 9t o@Rid U IR IS EA T |

IWiEd FYF & S H, A U 10 feadl § § 998 Iuged Ui B 999 Sk
(1) AARRIE 9T SRR, A 31 9t oo

(2) A #R R IH G E AT R, A 1 98 arem T8 2

(3) ATEiZ AR GE T

(4) A e R w8l B

1[Option ID=19273]
2[Option ID=19274]
3[Option ID=19275]
4[Option ID=19276]

Sl. No.4
QBID:1555024

Match List I with List IT

List I (Wood) List IT (Synonvm}
A pervasive I filter
B. |fsieve II. [widespread
C. |potent III.  Inetting
D. mesh IV. |powerful

Choose the correct answer from the options given below :
(1) A-II B-I, C-IV, D-III
(2) A-IV, B-IIL C-II, D-I
(3) A-IV, B-IL, C-III, D-II
(4) A-II, B-1, C-II, D-IV

=il 19 F1Y Gl 11 DT e ity

T 1 T 11
A [GHR T 1. [=Iifd e
B. [H3Tdel el . |[YRT Ay 31 51
C. [P Gal 111 ([l @ 3RIR OR ATgH1
D. [doel dsl gl [IV. [He Gd oHl

i feu U fasedi O T TEl 3R &1 99 DI
(1) A-IL, B-IIL C-IV, D-I

(2) A-IIIL, B-IV, C-I, D-II

(3) A-IV, B-I, C-II, D-III

(4) A-l, B-II, C-III, D-IV

1[Option ID=19277]

2[Option ID=19278]

3[Option ID=19279]
4[Option ID=19280]

Sl. No.5
QBID:1555025




Which two of the following are in correct form ?
A. Let's go to the cinema, shall we ?

B. Let's go to the cinema, do we ?

C. Let's not go to the cinema, shall we ?

D. Let's not go to the cinema, shan't we ?

Choose the correct answer from the options given below :
(1) A and D only

(2) A and C only

(3) B and D only

(4) B and C only

Rmarr e g I s EsE E ?

(1) FofE uig

(2) M Ty

(3) M4

(4) ¥g= g

1[Option ID=19281]
2[Option ID=19282]
3[Option ID=19283]
4[Option ID=19284]

Sl. No.6
QBID:1555026

Choose the option which is opposite in meaning to the following word:

Castigate

(1) Cominend

(2) Reprimand

(3) Flagellated

(4) Commotion

W & Wi wE-a qwm g g 2

(1) &= # ofoa S e ¢ |

(2) Tpa § off seia S S 8 |

(3) HfSaaREs HFRIG Qe F90 9gaa- & faFd of o & |
(4) &=t ueRia g Samelt &1 Sgaed a9 $ R T F WE W ST T E |
1[Option ID=19285]

2[Option ID=19286]

3[Option ID=19287]
4[Option ID=19288]

Sl. No.7
QBID:1555027

Identify the correct indirect narration for the following sentence :

"Who now." they had asked. "Will listen to our troubles and protect us from the crocodiles" ?

(1) They had wanted to know who would listen to their troubles and protect them from the crocodiles.

(2) They had wanted to know who then would listen to their troubles and protect them from the crocodiles.
(3) They had wanted to know who will now listen to their troubles and protect them from the crocodiles.

(4) They wanted to know who will listen to their troubles and protect them from the erocodiles.




fore g ®1 3R srifd arfam ve wu= 81, 99 ey 99 #6d § | 9Td SETER g1y |

A, gfedre=

B. &&0mquf

C. agfés

D. Sy3OTEA

E. 3o
= fau o fowedt § 9§ 999 99ged SR 1 904 BN
(1) ¥T@A.B.D
(2) B, C. D

(3) Ha0 C. A. B
(4) $3a D.E. C

1[Option ID=19289]
2[Option ID=19290]
3[Option ID=19291]
4[Option ID=19292]

Sl. No.8
QBID:1555028

Which of the following is a one-word substitute for 'safe to drink’ ?
(1) Potable

(2) Suitable

(3) Edible

(4) Pliable

A 59 Wes F1 49 & | FH-91 vafoar e € 2
(1) A&

(2) F&e

(3) = g

(4) Awdis

1[Option ID=19293]

2[Option ID=19294]

3[Option ID=19295]
4[Option ID=19296]

Sl. No.9
QBID:1555029

Identify suitable preposition from the options given below to compute the sentence.

Neha would think it her to do such a small work.

(1) under

(2) below

(3) above

(4) beneath

T f e T & -
A, THHIYED
B. =M=
C. firgar

D. 3ds
E. T=f&

A feu U fosedl § 9 999 SUged 3TR B 909 Sias
(1) FWA. B, C
(2) #9@B.C. D
(3) FWC.D,E
(4) ¥TWA.D.E

1[Option ID=19297]
2[Option ID=19298]
3[Option ID=19299]
4[Option ID=19300]




Sl. No.10
QBID:15550210

Tdentify the active voice for the following sentence :

These things have been left here by an unknown person.
(1) An unknown person leaves these things here

(2) An unknown person have left these things here

(3) An unknown person has left these things here

(4) An unknown person had left here these things

T[E T ST 90 ST |

(1) 9dF SEf B I § o |

(2) IS S0P FH B |

(3) S B B g1 § o |

(4) B & UAS I & &l |

1[Option ID=19205]
2[Option ID=19206]
3[Option ID=19207]
4[Option ID=19208]

Sl. No.11
QBID:15550211

Amid economy crisis and political turmoil in Sri Lanka who has been appointed as the new PM of Sri Lanka.
(1) Maithripala Sirisena

(2) Ranil Wickremesinghe

(3) Mahinda Rajapaksa

(4) Gotabaya Rajapaksa

fidit & snfie dare ud Iemiad siifd & st e &1 a1 gyt fed Fyed fearm g 2

() Farer R

@ e fapafd

(3) Hig=ISTE

(4) TETERT ISIE

1[Option ID=19209]
2[Option ID=19210]
3[Option ID=19211]
4[Option ID=19212]

Sl. No.12
QBID:15550212

Who has become the First female to took the office of President of Tanzania and the third woman head of the government of country in
East African Community ?

(1) Samia Suluhu Hassan

(2) Agathe Uwilingiyimana

(3) Sylvie Kinigi

(4) Sahle-work-Zewde

aan & PO F1 96 HR Te0 SR arelt wud Afeen R gdf anhiel eed # 5% B WeR YE §91 g drad Afeen 19 a4 2

(1) wiEn g e
(2) g ShfERREm
(3) Toedt fofh

(4) 9zd-T% vae
1[Option ID=19213]
2[Option ID=19214]

3[Option ID=19215]
4[Option ID=19216]

Sl. No.13
QBID:15550213

India held the first spot in the International Shooting Sport Federation World Cup 2022 which was being held in .




(1) India

(2) China

3) UAE.

(4) Egypt

SR YT WIE BN ats $Y 2022 H HRA - TYH ®IF UG a1, foret sieH g
(1) HRd

2 94

3) U3,
@) iy

1[Option ID=19217]
2[Option ID=19218]
3[Option ID=19219]
4[Option ID=19220]

Sl. No.14
QBID:15550214

Who has won the Men's Single Title at 79th Edition of the Ttalian Open being held in Rome ?
(1) Stefanos Tsitsipas

(2) Novak Djokovic

(3) Rafael Nadal

(4) Roger Federer

I F amhiferd et i % 799 T § 929 @ & Uhd (&de & e oial ?
(1) EieAr fafom

(2) s dPiEs

(3) IhE e

(4) IR FER

1[Option ID=19221]

2[Option ID=19222]

3[Option ID=19223]
4[Option ID=19224]

Sl. No.15
QBID:15550215

What is the current year estimation of the GDP growth accordmg to the Nirmala Sitharaman in the Union Budget 2022-23 ?
1) 9.5%

(2) 9.9%

(3) 9.2%

(4) 8.5%

oyt Hiarmw gRT wRgd T a9ie 2022-23 F AHT9R 9 74 S oishd afE &1 ogEE e g 2
(1) 9.5%

(2) 9.9%

3) 9.2%

(4) 8.5%

1[Option ID=19225]

2[Option ID=19226]

3[Option ID=19227]
4[Option ID=19228]

Sl. No.16
QBID:15550216




All the intellectuals are very emotional, because :
A. They are thinking beings

B. They are logical beings

C. They are mathematical beings

D. They are philosophers

E. They are layman

Choose the correct answer from the options given below :
(1) A, D Oaly
(2) B. C Only
(3) C.E Ounly
(4) D.E Ouly

IR gEoidt sga YIgF B § e

A, T Hre e wioh
B. ¥ afee mft & |
C. T il Wil & |
D.demfE T |

E. 39T oz |

i 4T U fosedl # § 9o SUgad SR @1 909 Sie
(1) $T@ A, D
(2) 90 B. C

(3) $T@C.E
(4) @@ D. E

1[Option ID=19229]
2[Option ID=19230]
3[Option ID=19231]
4[Option ID=19232]

Sl. No.17
QBID:15550217

Choose the best options for football players :

A. Player 'XYZ' shows team spirit

B. Player 'XYZ' have sportsmanship

C. Player 'XYZ' have hatred for other team-mates
D. Player "XYZ' shows jealousy

E. Player 'XYZ' shows patience

Choose the correct answer from the options given below :
(1) A.B,C only
(2) A and C only
(3) B.C.D only
(4) A.B.E only




pea & fEanedl & 17 gatan [9eed 9T |

A. fEaE 'XyZ fm e ek s g |

B. @t 'XYZ # @a-yET e |

C. st 'XYZ' & o Sm-vew &y g € |
D. f&ardl 'XYZ' o vefdfd sXar & |

E. e 'XyYZ' 9d veftfd s g |

9 feu U fawedt & @ FE9 SUged S &1 994 S
(1) WA, B, C
(2) FaaA SR C
(3) ®TUB.C. D
(4) 3T A.B.E

1[Option ID=19233]
2[Option ID=19234]
3[Option ID=19235]
4[Option ID=19236]

Sl. No.18
QBID:15550218

A person can learn Sanskrit without a teacher :

A. Tt 1s not possible learning Sanskrit without a teacher; as it is a technical subject.
B. It is possible to learn Sanskxit as it is non-technical subject.

C. Anyone can learn it; as it is just a language.

D. It can be learned by daily practice under a teacher.

E. It is easy for a person, who know Hindi language.

Choose the most appropriate answer from the options given below :
(1) A and E only

(2) B.C and D only

(3) A.B and E only

(4) A and D only

FIe ouied (31 et eras & Teg 9w IEa E

A. &1 eromoE 3 Tega diE weE TE T wife 75 TF aeais! e g |
B. ¥55d diEA1 9mg & dif 98 U6 TN-ab-ie! [9ua § |

C. 58 ®i5 1 9rg gHa & FUITE 5 H90 UF HIW T |

D =il sl com i tie swm s mam I S T ESal £ |
Emftdivweod Sl o sRuawt |

= fer o fowedf § § 999 SUge SR 1 904 S
(1) FTWASRE

(2) $TAB, C 3R D

(3) HTWA, B IRE

(4) Hag A R D

1[Option ID=19237]
2[Option ID=19238]
3[Option ID=19239]
4[Option ID=19240]

Sl. No.19
QBID:15550219




Give below are two statements :
Statement I : Pollution level in Delhi may be reduced by reducing the factories.
Statement IT : All factories are creating noise pollution and are dangerous to health.

In the light of the above statements. choose the correct answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement I is incorrect
(4) Statement I is incorrect but Statement IT is correct

19 S ByA Ry &
HY | ; 3wl & ugun 1 ¥R $REH 9eH F A1Ed 9 92r] of §6d1 B |
FUT1 ] : IR BREH @-TgT TOF B & SR @R & Y 96 ¢

IRIF FYF & A 8§, - 5y U et § 3§ 999 Suged Iue & 99 S
(1) FUF AR 4 981 2

(2) ®uF ] &R 11 <Hf 7o &

(3) T TR AT FuT Il ToE &

(4) T ] TG § AfET wuE [ wE B

1[Option ID=19241]
2[Option ID=19242]
3[Option ID=19243]
4[Option ID=19244]

Sl. No.20
QBID:15550220

Give below are two statements :
Statement I : Education is important for both male and female.
Statement II : Government must encourage co-eduecation, as it is required for country's development.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are mcorrect
(3) Statement I is correct but Statement I is incorrect
(4) Statement I is incorrect but Statement IT is correct

R Rrmd
FY [ ; ToUT +i Afzaal, 9, F R frem geagl 2
FUT] ] : TER T Ta-T81 FT WdeT o1 Tiey F0iE 98 <0 & Oe™ F Y Jaws ¢ |

IO FYA & WS 4, 19 8y U iFed § § 998 Sugad IR &1 904 S
(1) FUF] AR IS T8 8

(2) FYF1 SR 11 =41 7o &

(3) FUF] FEl &, A= FuF 11 Toa &

(4) Fu 1 7o &, Wiee FuA 11 981 &

1[Option ID=19249]
2[Option ID=19250]
3[Option ID=19251]
4[Option ID=19252]

Sl. No.21
QBID:15550221

i then the valueof ., 1 is
x+ X+

=32

S
(1 =2




(2) =8

3) =1
(4) =4
g | o1 @, 1 FIHAE-
x+—==2 X +—=
x x
1) =2
(2) =8
3) =1
4) =4

1[Option ID=19253]
2[Option ID=19254]
3[Option ID=19255]
4[Option ID=19256]

Sl. No.22
QBID:15550222

Give below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : If the volumes of two cubes are in the ratio of 3:27 then their surface areas are in the ratio of 4:0.

Reason R : If the surface areas of two cubes are in the ratio S} : S5. then their volumes are in the ratio §2° : §2°

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A

(3) Aistrue but R is false
(4) Ais false but R is true

A1 31 B fAU MU & U 3HYT (Assertion A) B FU H ARG 8 o1 GIRT IHB BRI (Reason R) b FU :

SHIYHYA A : 43 & 91 & ST DT SUId 3:27 8 ol 3D FeIe SFBd Pl UM 4:9 T

PRUIR : TS &1 941 & Gdg SA5A BT I S; : S, & a1 30 AT B AT 52 . 525 TN

IRIGd Y B 3fdid O, Fii fGU T fddbed T I T8l IR &1 9097 Dot |
(1) ASRREAIITE IRR AT Jel OB &

(2) AIRRSH IO E. Al R AT Je T ol &

() AT L AfPR 3T

(4) ANFI AP RIT .

1[Option ID=19257]

2[Option ID=19258]

3[Option ID=19259]
4[Option ID=19260]

Sl. No.23
QBID:15550223

If the high and base radius of a cone are inereased by 50% and 25% respectively then the ratio between the volume of a given cone and
the new cone is

(1) 8:27

(2) 75:32

(3) 32:75

(4) 27:8

i ol =g 1 31 SR SR ST DI HH: 50% 3R 25% F¢1 481 &Y dl Q- ¥ SR T4 = & Sa 1 SUrd gl -
(1) 8:27

(2) 75:
(3) 32:
4) 27:

[¥5]
ok

== |

1[Option ID=19261]
2[Option ID=19262]




3[Option ID=19263]
4[Option ID=19264]

Sl. No.24
QBID:15550224

The probability of selecting a vowel from the word TRIANGLE is -

(1)

(2)

Teq TRIANGLE ¥ 9 Us X g4 1 Uigidsan &1 grl-

(4)

COl e 0ol L 00l = ] b2 ] 01 Wh G0 W 0l = ] kD

1[Option ID=19265]
2[Option ID=19266]
3[Option ID=19267]
4[Option ID=19268]

Sl. No.25
QBID:15550225

If one root of quadratic equation 3,2 _3y 4 (2k+1) = 0 is five times the other then the value of k is :
3

1) —
16

(2) -

(3) -

oo | e ;|L.»J

3
(4) -
g

feanciia @R 5,2 3y 4 (g 41) =0 T U FE GO ST Ui A1 2 @l k 1A TGN 2

3
(1) —
16

(2) -

3) -

== RIS ;lw

3
(4) -
8

1[Option ID=19269]
2[Option ID=19270]
3[Option ID=19271]
4[Option ID=19272]

Sl. No.26
QBID:82914241




The observed bearings of a traverse are given below:

Line Bearing Line Braring
PQ 467 15' QP 226° 15
QR 108° 15 RO 286° 15
RS 201° 15 SR 20° 30’
ST 28 i By TS 141° 15

The station(s) most likely to be affected by the local attraction is/are:

(1) OnlyR
(2) Only S
(3) Rand S
(4) Pand Q
forelt gy & g f5e S = Rg e g
SlER ffeew | wgd | fep @
PQ 146° 15 QP 226° 15"
QR 108° 15 RQ 286° 15
RS 201° 15 SR 20° 307
ST 321° 15 TS 141° 15
Y WY RN F aifte yuifdd gl 9 dd &/ &-
(1) HIAR
(2) FHads
(3 R3RsS
4 P3RQ

1[Option ID=19601]
2[Option ID=19602]
3[Option ID=19603]
4[Option ID=19604]

Sl. No.27
QBID:82914242

The combined correction due to curvature and refraction (in m) for a distance of 1 km on the surface of Earth is:
(1) 0.0673

(2) 0.673

(3) 7.63

(4) 0.763

T 7AW 1 fFA. g8 F R awar aun smacd @ #) $ R0 Egea Sgfs 7 e
(1) 0.0673

(2) 0.673

(3) 7.63

(4) 0.763

1[Option ID=19645]

2[Option ID=19646]

3[Option ID=19647]
4[Option ID=19648]

Sl. No.28
QBID:82914243

A circular curve of radius R connects two straight lines with a deflection angle of 60°. The tangent length is:
(1) 1.155R

(2) 0.577TR

(3) 1.732 R

(4) 3.364R

SrfeTE R a1 T % & Gl el &1 60° faae S gR Sisd 1 9 v # oS a7 g

(1) 1.155R

(2) 0.577TR

3) 1.732 R

(4) 3.364R




1[Option ID=19689]
2[Option ID=19690]
3[Option ID=19691]
4[Option ID=19692]

Sl. No.29
QBID:82914244

The bearings of two inaccessible stations. S1 (Easting 500 m Northing 500 m) and S2 (Easting 600 m, Northing 450 m) from a station
53 were observed as 225° and 153° 26° respectively. The independent Easting (in m) of station 53 is:
(1) 450.000
(2) 570.710
(3) 550.000
(4) 650.000
el ®m §, 9 2 o Wl & @i 5, (500 A gd #1 3%, 500 Al IR # AR R S, (600 HL. gd 1 AR, 450 A IR 1 IR) 1 HAW: 225°
SR 153° 26' SiiEa fean man U1 S, R #1 w90 qd (¢ #) F1 g
(1) 450.000
(2) 570.710
(3) 550.000
(4) 650.000
1[Option ID=19733]
2[Option ID=19734]

3[Option ID=19735]
4[Option ID=19736]

Sl. No.30
QBID:82914245

A level instrument at a height of 1.320 m has been placed at a station having a Reduced Level (RL) of 112.565 m. The instrument reads
—2.835 m on a levelling staff held at the bottom of a bridge deck. The RL (in m) of the bottom of the bridge deck 1s:

(1) 116.720

(2) 116.080

(3) 114.080

(4) 111.050

TF 112.565 W TAHGT W1 a@ ©EE R 1,320 . F95 R uF TR 97 anan 797 21 5 9 F 39 F onive W T Y 9eaeH wI% W 499 2,835
. Ui gEia 51 9g EF & orliyF @1 RL (1. H) T §FI

(1) 116.720

(2) 116.080

(3) 114.080

(4) 111.050

1[Option ID=19777]

2[Option ID=19778]

3[Option ID=19779]
4[Option ID=19780]

Sl. No.31
QBID:82914246

The method of orientation used, when the plane table occupies a position not yet located on the map, is called:
(1) Traversing

(2) Radiation

(3) Levelling

(4) Resection

T THL U TF T W 2R & 9 ot 9% ot w wifte e R & swmm E TS i w i s e &
(1) gafdf

(2) fafeor fswmm)

(3) THATH @

(4) frsbea (E=m)

1[Option ID=19821]
2[Option ID=19822]
3[Option ID=19823]
4[Option ID=19824]

Sl. No.32
QBID:82914247

How much refraction correction (in m) required for a distance of 500 m?




(1) 0.0028

(2) 0.0056

(3) 5.61

(4) 2850

500 fiex @t gt  fomw fraeit emad= 9xpE AR, 7 &t smawmsar grie
(1) 0.0028

(2) 0.0056

(3) 5.61

(4) 2850

1[Option ID=19865]
2[Option ID=19866]

3[Option ID=19867]
4[Option ID=19868]

Sl. No.33
QBID:82914248

Which of the following is used for determining the location of the station occupied by the plane table?
(1) Both mntersection and radiation

(2) Intersection method

(3) Radiation method

(4) Two point problem

Fofafan # @ feas Swdm gdem g (@7 290 TR «fiFa =eF #t fufy &1 fifa w9 ¥ fa e 9 &2
(1) vftrsye aun fafeor S

(2) wit=se [y

(3) fafesur fafy

(4) Tg-forg wmem

1[Option ID=19893]

2[Option ID=19894]

3[Option ID=19895]
4[Option ID=19896]

Sl. No.34
QBID:82914249

The area of a sloping surface of a protective embankment of mean height d. side slopes S : 1 and length L is:
(1) dxdxs

(2) L A1+ s?
(3) 27 A1+
4 Jd* +ds’

ma FATS . Y F e S:1 SR TS L 91 WWEE qeay & war aid g8 &1 43 & S
(1) dxdxs

(@) L1454
(3) 2L41+5°
@ d* +ds*

1[Option ID=19897]
2[Option ID=19898]
3[Option ID=19899]
4[Option ID=19900]

Sl. No.35
QBID:829142410

The method of levelling used to carry out reconnaissance of area is:
(1) Check levelling

(2) Fly levelling

(3) Profile levelling

(4) Simple levelling

ot &9 BT SMI&T B & 70 SUDFT S o a1l SHaoH 3 31 701 $8d 27




(1) vsad @F) THaeH
(2) TS GAAAA

(3) WwEE SAdad

(4) T THTEE
1[Option ID=19605]
2[Option ID=19606]

3[Option ID=19607]
4[Option ID=19608]

Sl. No.36
QBID:829142411

Kinematic viscosity is dimensionally represented as:
(1 T2/L

(2 L,/T

(3) M/L’T

4) M/LT

T Tiae Wl & fieda w0 § 9 vefifa frar o &2

1 T2/L
(2 L,/T

(3 M/LT
(4) M/LT

1[Option ID=19609]
2[Option ID=19610]
3[Option ID=19611]
4[Option ID=19612]

Sl. No.37
QBID:829142412

The ratio of the momentum correction factor to the energy correction factor for a laminar flow in a pipe is:
(1) 2/3

2) 1

3) 12

4) 32

TF UI5T & WLd YaTg &1 957 GYfE T aul Sl SRS UME BT ST 91 52

(1) 2/3

2 1
3) U
(4) 3/

(]

[ 3%

1[Option ID=19613]
2[Option ID=19614]
3[Option ID=19615]
4[Option ID=19616]

Sl. No.38
QBID:829142413

For a given discharge in an open channel, there are two depths which have the same specific energy. These two depths are known as:
(1) Critical depths

(2) Normal depths

(3) Alternate depths

(4) Sequent depths

Tt oFfaes e & faw o S F R 3 evredl § el fBfm ool s 81 57 S Tevsdl @ @ w2

(1) dFeHeH TEgar

(2) 9 TRl

(3) Tefeus measal

(4) weadl el

1[Option ID=19617]
2[Option ID=19618]
3[Option ID=19619]
4[Option ID=19620]




Sl. No.39
QBID:829142414

A rectangular open channel has a width of 5m and a bed slope of 0.001. For a uniform flow of depth 2m, the veloeity is 2m/s.
Manning’s roughness coefficient for the channel is:

(1) 0.050

(2) 0.002

(3) 0.017

(4) 0.033

TF HOAER U 91H B 95T 5 Aie § ST a0 B g 0.001 31 2 HiET TEs 910 UHey WaTg 1 4 2 m/s §1 59 g 51 8F B gigaes
Uil 1 I

(1) 0.050

(2) 0.002

(3) 0.017

(4) 0.033

1[Option ID=19621]
2[Option ID=19622]
3[Option ID=19623]
4[Option ID=19624]

Sl. No.40
QBID:829142415

A rectangular channel of 2.5 m width is carrying a discharge of 4 m3/s. Considering that acceleration due to gravity of 9.81 m/s?, the
velocity of flow (in m/s) corresponding to the critical depth (at which the specific energy is minimum) is:
(1) 1.5
(2) 25
(3) 05
(4) 1.0
2.5 X 931 JAATER 376 4 m3/s BT S@wT A ol 61 51 TE A gU & o & R0 @xw 6.81 w/'s? & aTg =1 3 (f/dss &), Sifvs s @
THEYA] § (el Ay Sl gaas g #1 g
(1) 1.5
(2) 2.5
(3) 05
(4) 1.0
1[Option ID=19625]
2[Option ID=19626]

3[Option ID=19627]
4[Option ID=19628]

Sl. No.41
QBID:829142416

A horizontal jet of water with its cross sectional area of 0.0028 m? hits a fixed vertical plate with a velocity of 5 m/s. After impact, the
jets splits symmetrically in a plane parallel to the plane of the plate. The force of impact (in N) of the jet on the plate is:

(1) 90

(2) 80

(3) 70

(4) 60

T 1 UF S oe, e Sy aiesdin £9d 0.0028 W2 & e RR FWiuR 2 ¥ 5 W/ § 97 S a1 ¢ THE o 99EY § 0F a9
# o i wie & o0 $ IHER 2, § d 911 31 Se F 70 (N ) ST 99T 1 W O 51 5E?

(1) S0

(2) 80

(3) 70

(4) 60

1[Option ID=19629]

2[Option ID=19630]

3[Option ID=19631]
4[Option ID=19632]

Sl. No.42
QBID:829142417

Water flows at the rate of 12 m3/s in a 6 m wide rectangular channel. A hydraulic jump is formed in the channel at a point where the
upstream depth is 30 cm (just before the jump). Considering acceleration due to gravity as 9.81 m/s? and density of water as 1000 ke/m
3, the energy loss in the jump is:




(1) 1142kW

(2) 114.2 MW

(3) 141.2H.P.

(4) 141.21/8

T 6 . 918 AHaER T A e 12 @3/ 3 #1 x @ vailed g 31 390 # ue g we el Sulvars e 30 S § @ @ fepa wee) U sy
wifa &1 Fmin 2 21 7o & SR e B 9,81 W42 SR 99 F 99a &1 1000 fEanAS3 ae gu wfd # fea St e g
(1) 1142 kW

(2) 114.2 MW

(3) 141.2H.P.

(4) 141.21/8

1[Option ID=19633]

2[Option ID=19634]

3[Option ID=19635]
4[Option ID=19636]

Sl. No.43
QBID:829142418

The roughness coefficient for the channel is given as f. The Chezy’s coefficient is directly proportional to:
1) f

2 Af7

3) 1/ 7

@) 1/f

el 37 & fom waa uiss £ fam o ©) e el & 9 39 &1 Qe s Srgmargand e
1) f

@ Af7

3 1/ 5

@ Uf

1[Option ID=19637]
2[Option ID=19638]
3[Option ID=19639]
4[Option ID=19640]

Sl. No.44
QBID:829142419

The range of Froude number for the weak jump is :
(1) upto 1.7

(2) 1.7t0 2.5

(3) 2.5t04.5

(4) 45t09.0

i <qfd % R0 Whies dem & o o g
1) 1.79%

(2 1.7925

(3) 25945

(4) 45%9.0

1[Option ID=19641]

2[Option ID=19642]

3[Option ID=19643]
4[Option ID=19644]

Sl. No.45
QBID:829142420

The hydraulic radius is given by:

(1) Wetted perimeter divided by area

(2) Area divided by square wetted perimeter
(3) Square root of area

(4) Area divided by wetted perimeter

Tl srfomr e g e o 22

(1) 9 R $ AN &1 5560 § @4 g
(2)




BT 1 TH R & 9 & o | W gr
(3) EFd & TOHd G
(4) S%d &1 A9 WH & 9iEY 9 ffye= s

1[Option ID=19649]
2[Option ID=19650]
3[Option ID=19651]
4[Option ID=19652]

Sl. No.46
QBID:829142421

Assertion A: the consumption of water increases with increase in the distribution pressure.
Reason R: Higher distribution pressure causes more loss and waste of water.

Select your answer according to the coding system given below:
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true
(3) Ais true but R is false
(4) A is false but R is true

19 1 FvF AU T | : 0F YA (Assertion A) F 9 # Rif&d § o1 g8U 9% &R (Reason R) F FU
HfiEyT A ; oo o # 9fE & 914 o &1 39T 5 I 2

FRU R : 3= G090 219 F &R0 o &1 AfiE 71 3R ga9ie 2idt 2

TRIEd HUF & S H, A G Y e § | T6Y Iu9ad 9ok Bl 997 SIu

(1) ASRREF W1 § SRR, A F 96l T &
(2) ASRREFTwE T

(3) ATEIR TR W TR E

(4) ASEI EI e AA R WE ®

1[Option ID=19653]
2[Option ID=19654]
3[Option ID=19655]
4[Option ID=19656]

Sl. No.47
QBID:829142422

The per capital consumption of a locality is affected by :

i. Climatic conditions
ii. Quality of water
iii. Distribution pressure
Choose the correct option from the given below :
(1) Only (1)
(2) Both (i) and (i)
(3) Both (1) and (i)
(4) all (i), (ii) and (iii)
el o 1 wfa aafeq QUi FafafEd & 9 fFas g aWea e 2
i, orearg @1 Rufeat

ii. 9@ I 7o
iii. TR gE

= fou U Aeed! & ¥ 98 ST B 994 Fifo ;
(1) Fa9 (i)

(2) & (i) 3R (i)

(3) S (i) 3R (i)

(@) 3 (i), (i) 3R (i)

1[Option ID=19657]

2[Option ID=19658]

3[Option ID=19659]
4[Option ID=19660]




Sl. No.48
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As compared to geometrical increase method of forecasting population, arithmetical increase method gives:
(1) Lesser value

(2) Higher value

(3) Same value

(4) Accurate value

TEE qEigEE & s giE & # gomn F sfenfici ofg Aty Wa &l Bl

(1) =AHH

(2) S=HHH

(3) §HMHEAHA

(4) Temlmieers O

1[Option ID=19661]
2[Option ID=19662]
3[Option ID=19663]
4[Option ID=19664]

Sl. No.49
QBID:829142424

The depression of water table in a well due to pumping will be maximum (where R is the radus of influence)
(1) At a distance R from the well

(2) Closge to the well

(3) At a distance R/2 from the well

(4) None of the above

el S A o WR B U9 & SR G $9 AUBaH S (8] R, FHIT BT e g2

(1) FLIRFIGW W
(2) FUF TS

(3) FUFARZH W
(4) Suiled § § B¢ &

1[Option ID=19665]
2[Option ID=19666]
3[Option ID=19667]
4[Option ID=19668]

Sl. No.50
QBID:829142425

The maximum permissible limit for fluoride in drinking water 1s:
(1) 0.1 mg/litre

(2) 1.5 mg/litre

(3) 5 mg/litre

(4) 10 mg/litre

99 & wa § g @ fiEan ey 9 e &

(1) 0.1 fEn /e,

(2) 1.5 T,

(3) 5 fm.

(4) 10 o/,

1[Option ID=19669]
2[Option ID=19670]
3[Option ID=19671]
4[Option ID=19672]

Sl. No.51
QBID:829142426

Instrument for recording earthquake wave is called:
(1) Seismograph
(2) Seismogram

(3) Seismometer
(4) Scintillometer




Y T B dfed &4 oY STar fFu o o O3 &1 30 B5d o2
(1) HigHmrE
(2) HiHEmH
(3) drgAndeT
(4) fHfeamiz

1[Option ID=19673]
2[Option ID=19674]
3[Option ID=19675]
4[Option ID=19676]

Sl. No.52
QBID:829142427

The cosmic ray intensity is minimum at the magnetic:
(1) Equator

(2) North pole

(3) South pole

(4) Tropic of cancer

TaFE TR sfafke 207 diar =ad grl|
(1) HAw E/fagEa

(2) ITE

(3) =fgi ya

(4) && @

1[Option ID=19677]
2[Option ID=19678]
3[Option ID=19679]
4[Option ID=19680]

Sl. No.53
QBID:829142428

‘What powers the Earth’s mternal heat engine?
(1) Solar Energy

(2) Ocean tides

(3) Volcanoes

(4) Radioactivity

Tl & S FT S0 F B WieT W ST o7
(1) IR F=

(2) THE ERHE

(3) waTeTHE

(4) fedrafmam

1[Option ID=19681]
2[Option ID=19682]
3[Option ID=19683]
4[Option ID=19684]

Sl. No.54
QBID:829142429

Oxygen built up in the Earth’s atmosphere is caused by:

(1) Formation of ocean in early history of Earth

(2) Algae and other organisms employed in photosynthesis
(3) Oxygen settled on Earth from planets further from the sun
(4) Rocks weathered and released their oxygen

Gl & IR0 § Sfiiia i S SR T 3

(1) gdl & URiE giiere | 96 &1 &4

(2) =TT GUT 39 HiET ST YHTR G0 H 16 5

(3) 0 9 R SUTE! ¥ e &1 il I wEA

(4) 2l & 2mefive F BRU ST sHafios 1 gad B




1[Option ID=19685]
2[Option ID=19686]
3[Option ID=19687]
4[Option ID=19688]

Sl. No.55
QBID:829142430

The observed annual runoff from a basin of area 500 km? is 150 mm3 and the corresponding annual rainfall over the basin during the
same year is 750 mm?. What is the runoff coefficient?

(1) 0.2

(2) 0.67

3) 04

@) 0.5

500 f#it.2 g & 3feT &1 e oiffe ae @ 150 mm? 3R 39 aftm w35t o & 750 firdt 2 off ol 21 591 a1g Tuis @ S

(1) 0.2
(2) 0.67
3) 04
4) 0.5
1[Option ID=19693]
2[Option ID=19694]

3[Option ID=19695]
4[Option ID=19696]

Sl. No.56
QBID:829142431

The instrument used for measuring evaporation is:
(1) Hygrometer

(2) Atmometer

(3) Lysimeter

(4) Luxmeter

aTH & A9 & o AT feE o ard OF &1 # Sed o7
(1) TIEUEE

(2) weHAMER

(3) wmsHEEY

(4) TR

1[Option ID=19697]
2[Option ID=19698]
3[Option ID=19699]
4[Option ID=19700]

Sl. No.57
QBID:829142432

Which of the following type of parking has areas exclusively allotted for parking at some distance away from the main stream of traffic?
(1) 30 degrees parking

(2) right-angle parking

(3) Off-strect parking

(4) Parallel parking

ffafEn ¥ @ 59 ver 31 et &1 43 TaE 31 089 ¥R ¥ $8 gi R My eamE =e 8@

(1) 30 f&i arfd

(2) FHBI Ui

(3) IS & gT Ui

(4) FHEIR wifET

1[Option ID=19701]
2[Option ID=19702]
3[Option ID=19703]
4[Option ID=19704]

Sl. No.58
QBID:829142433

Which of the following are the disadvantages of traffic signals?
(1) The quality of the traffic flow improves




(2) Traffic handling capacity increases

(3) The rear end collision increases
(4) Provide orderly movement at intersection

Fafefaa # 9 #F 9 g1l gxmEE $ deal 9 gl 82
(1) TTEEE YT &1 Juadl § U

(2) TaEE @ Pt B #1 e | g

(3) uif BN W Hud 3g T 2

(4) IRE R ARG F HEd g0

1[Option ID=19705]
2[Option ID=19706]
3[Option ID=19707]
4[Option ID=19708]

Sl. No.59
QBID:829142434

Which of the following is not a parameter of traffic stream?
(1) Speed

(2) PCU

(3) Density of traffic

(4) Flow of traffic

fmffan & | $19 W aaEd waTE $1 AHeUs T 8
(1) =ifg

(2) §idig

(3) UENE &1 99

(4) GIdiEArd &1 Hdlg

1[Option ID=19709]

2[Option ID=19710]

3[Option ID=19711]
4[Option ID=19712]

Sl. No.60
QBID:829142435

Which of the following is not a factor affecting traffic capacity?
(1) Traffic control devices

(2) Lateral clearance

(3) Lane width

(4) Gradient

e ¥ 3 #H-91 SRe TaE B gEar B IHIRET Tt S 87
(1) T Fgan Suem

(2) orffa i

(3) T = dIs

(4) ¥gudr

1[Option ID=19713]

2[Option ID=19714]

3[Option ID=19715]
4[Option ID=19716]

Sl. No.61
QBID:829142436

Which of the following is known as the time lost by traffic due to traffic friction and traffic control devices?
(1) Setback time

(2) Delay

(3) Green time

(4) Red time

ArTaTd T SR g A Susl F SR, g F ¥ 5 g g s wmg # el e o 8

(1) YETHA 9AG

(2) &

(3) FHTEH

(4) YA




1[Option ID=19717]
2[Option ID=19718]
3[Option ID=19719]
4[Option ID=19720]

Sl. No.62
QBID:829142437

What is the purpose of a Travel Time and Delay study?
(1) To evaluate the traffic stream

(2) For survey data

(3) To assess the quality of traffic movement

(4) To assess the time taken to travel by various vehicles
= whg a1 faae dEdt epgmE 1 SR A @

(1) T WaTg &1 Hedie

(2) =21 &1 g
(3) TG I B UE F1 3Ha-

(4) fafim ae=t g 1 a1 § war fey T 99 &1 e

1[Option ID=19721]
2[Option ID=19722]
3[Option ID=19723]
4[Option ID=19724]

Sl. No.63
QBID:829142438

Which of the following is the number of vehicles crossing a section of road in a unit time at any selected period?
(1) Traffic density study

(2) Traffic characteristic study

(3) Traffic volume study

(4) Traffic mass study

et afd oEfy 4 us s w0 §, 95¢ & 59l U &1 UR &% a1d are! &1 S fHadl arin

(1) TTariard 9 o1 -HH=ad+

(2) zwE i e 1 ewmaa

(3) TaTgT UieAT = T
(4) GIarid Sdaedl =1 300

1[Option ID=19725]
2[Option ID=19726]
3[Option ID=19727]
4[Option ID=19728]

Sl. No.64
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The maximum number of cars can be parked in

(1) Kerb parking

(2) Parallel parking

(3) Off-street parking

(4) 90 degree parking

SR &I ifisas dem # Ut foa @ ad 2l
(1) =4 mET

(2) FHEIR TiET

(3) 9% ¥ g Wik

(4) 90 f&ht urid

1[Option ID=19729]
2[Option ID=19730]
3[Option ID=19731]
4[Option ID=19732]

Sl. No.65
QBID:829142440

The width for all type of vehicles recommended by IRC is
1) 1.5m




(2) 2.0m

3) 25m

(4) 3.0m

Tt R % aEAl & g IRC g sEifya @ist fea &
(1) 1.54

(2) 2.0

(3) 2.5

(4) 3.0

1[Option ID=19737]

2[Option ID=19738]

3[Option ID=19739]
4[Option ID=19740]

Sl. No.66
QBID:829142441

While negotiating a horizontal curve the difference between the set of front axle and rear axle is called
(1) Psychological widening

(2) Off tracking

(3) Skidding

(4) Slipping

AT o BT WHT B TG Ayl 3 o ot F Fe F ofR B 7 Fed &7

(1) FEEmE TR

(2) T 3FF

(3) Fmfen

(4) fepe

1[Option ID=19741]
2[Option ID=19742]
3[Option ID=19743]
4[Option ID=19744]

Sl. No.67
QBID:829142442

What is the most important objective of traffic engineering?
(1) To consider pedestrians as obstruction

(2) To reduce the accidents

(3) To increase the traffic

(4) To provide a high speed road without any priority
T i &1 9ed geayl S a8

(1) Yo oIl F1 UF 9191 S e qEE

(2) gHeeft & =i @

(3) T SgHET

(4) 5 mufear & f&m, 9= 0 9l 9@ v ST
1[Option ID=19745]

2[Option ID=19746]

3[Option ID=19747]
4[Option ID=19748]

Sl. No.68
QBID:829142443

Which of the following roads are congested during peak hours?
(1) Rural roads

(2) Express ways

(3) Highways

(4) Urban roads

o & 3 @ 9 g5% o7 uel # s arfl & ot 22

(1) i EeE

(2) T T

(3) TEHr




(4) =Ed w5+

1[Option ID=19749]
2[Option ID=19750]
3[Option ID=19751]
4[Option ID=19752]

Sl. No.69
QBID:829142444

A road is being designed for a speed of 110 kan/hr on a horizontal curve with a super elevation of 8%. If the coefficient of side friction is
0.10, the minimum radius of the curve (in m) required for safe vehicular movement is

(1) 115.8
(2) 1523

(3) 264.3

(4) 5293

8% # fd F=18 T WU UF AW 0% R UF I5% 1 100 fEf da 2 1fa F o w=fia fvm o w1 81 aft ol wfor ot 0,10 @ & el F wRigm
e & U 96 B s Had e o, #) 1 g

(1) 115.8

(2) 152.3

(3) 264.3

(4) 5293

1[Option ID=19753]

2[Option ID=19754]

3[Option ID=19755]
4[Option ID=19756]

Sl. No.70
QBID:829142445

The survey carried out to delineate natural features, such as hills, rivers, forests and manmade features, such as towns, villages,
buildings, roads, transmission lines and canals is classified as

(1) Topographic survey
(2) Engineering survey
(3) Geological survey
(4) Land survey

Wipfae faiuarst, 49 geifsdl, Ffeal, a7 qur Arada fERivan, SR weR, 7ife, $ARd, a9, Tavur a1s+ SR e onfE B offde Be & forg fop o wdayor
H o yeR wiftea far mar 22

(1) ETHiie Fdam

(2) HHTiE®T gdem

(3) it wdam

(4) 3 wagm

1[Option ID=19757]

2[Option ID=19758]

3[Option ID=19759]
4[Option ID=19760]

Sl. No.71
QBID:829142446

A superspeedway in New Delhi has among the highest super-elevation rates of any track on the Indian Grand Prix circuit. The track
requires drivers to negotiate turns with a radius of 335 m and 33° banking. Given this information. the coefficient of side friction required
in order to allow a vehicle to travel at 320 kan'h along the curve 1s:

(1) 1.761

(2) 0.176

(3) 0.253

(4) 2.530

7 ool & ue goRedic avl @1 yRdig gie fiew ooy &= &8 ot anl 1 Soan gR-S907 0 § T ue 21 AF &1 335 i onfora qut 330 S %
Y WSt F uETY F i g F awedl 81 59 99 # o1YR R, 5 AT B 320 fEAi/da 8 o F wy-uy 9ue F o e ol o o
@1 AHaGHl B2

(1) 1.761

(2) 0.176

(3) 0.253

(4) 2.530

1[Option ID=19761]




2[Option ID=19762]
3[Option ID=19763]
4[Option ID=19764]

Sl. No.72
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Transportation engineering, primarily involves?
(1) Planning

(2) Design

(3) Construction

(4) All of the above

uftae sfimife d @ wu @ =t &
1) FaEa

(2) H=H

(3)

(4) I a4

1[Option ID=19765]

2[Option ID=19766]

3[Option ID=19767]
4[Option ID=19768]

Sl. No.73
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The main objective of transporttion is?
(1) Economical transport of goods

(2) Economical transport of passengers
(3) To generate revenue

(4) Safe economical and efficient transport of goods and passengers

ufkaE 1 480 S5 31 7
(1) &gl &1 fSwHEdl uiagd

(2) Tt =1 fewmEdl 9iEed
(3) e A AT

(4) TR SR it @ eie, fewmmd At o afass

1[Option ID=19769]
2[Option ID=19770]
3[Option ID=19771]
4[Option ID=19772]

Sl. No.74
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The factors influencing the cost of transportation are?
(1) Supply

(2) Demand

(3) Cost of land

(4) Both (1) and (2)

ufYaET $1 TG ST THIRT H a8 SRS I & 7

(1) mfif

(2) Hfm

(3) Y &I &4
(4) (1)1 (2) <
1[Option ID=19773]
2[Option ID=19774]

3[Option ID=19775]
4[Option ID=19776]

Sl. No.75
QBID:829142450

Which is the most flexible type of transportation available?
(1) Roadway
(2) Railway




(3) Waterway

(4) Airway

FUT UNGE- ® € B 91 Faiiys vu (@R TR S UG o7
(1) gs® AF

(2) Y@ar

(3) @ AR

(4) Tg =R

1[Option ID=19781]
2[Option ID=19782]
3[Option ID=19783]
4[Option ID=19784]

Sl. No.76
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The PMGSY aimed to connect all villages under a population of 500 by which year?
(1) 2006

(2) 2007

(3) 2008

(4) 2009

500 ¥ &1 TS a1 76t & Wigd B PMGSY &1 S5 {5 9d a& & fom o7
(1) 2006

(2) 2007

(3) 2008

(4) 2009

1[Option ID=19785]

2[Option ID=19786]

3[Option ID=19787]
4[Option ID=19788]

Sl. No.77
QBID:829142452

The alignment surveys include?
(1) horizontal alignment

(2) cross section angle

(3) vertical alignment of roads
(4) all of the above

SfETeH e & Far wniad w1 82
(1) 8w A

(2) TR FE HW

(3) UEHI P FHlR ST

(4) gudia w4

1[Option ID=19789]
2[Option ID=19790]
3[Option ID=19791]
4[Option ID=19792]

Sl. No.78
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The changes in gradient and vertical curve are covered under which type of alignment?
(1) Horizontal alignment

(2) Vertical alignment

(3) Geometric design

(4) Highway specifications

AT 3R HHateR O% | UiadHl 1 59 UER e F g mee T

(1) & s

(2) T A
(3) woifiydig U=y
(4)




P

1[Option ID=19793]
2[Option ID=19794]
3[Option ID=19795]
4[Option ID=19796]

Sl. No.79
QBID:829142454

The improper alignment of road will net result in

(1) Increase in construction cost

(2) Inecrese in mamntenance cost

(3) Inerease of population

(4) Increase in accidents

P &1 A3 orgaeH 9 & § fead ufvommerdt i g
1) Fa e #a9fE

(2) SR arTd # &

(3) wHEEm B gfg

(4) gHeel & afE

1[Option ID=19797]
2[Option ID=19798]
3[Option ID=19799]
4[Option ID=19800]

Sl. No.80
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Obligatory points through which the alignment should not pass are
(1) Religious structure and valuable structures

(2) Intermediate towns
(3) Important cities

(4) Important places of worship

o7 TEET g B &2 O a1 e e 9T -
(1) «1fifE od Fegam @A

(2) o ;e

(3) Hewqof weR

(4) U9 & AE@YN wE

1[Option ID=19801]
2[Option ID=19802]
3[Option ID=19803]
4[Option ID=19804]

Sl. No.81
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Shape of 'Stop’ sign is
(1) Triangular

(2) Rectangular

(3) Octagonal

(4) None of these
FET F Hbd B AN T 87
1) FEnmm

(2) FEAER

(3) SEHElg

(4) ST H ¥ B T
1[Option ID=19805]
2[Option ID=19806]

3[Option ID=19807]
4[Option ID=19808]

Sl. No.82
QBID:829142457

Which color of background is used for No Parking' sign?




(1) Red

(2) Yellow

(3) Blue

(4) None of these
T TR F Teed & o w1 21 guyfh =1 9umeT o 22
(1) "

(2) g

(3) =

(4) IR H G B TE
1[Option ID=19809]
2[Option ID=19810]

3[Option ID=19811]
4[Option ID=19812]

Sl. No.83
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'Speed Limit' sign is meant to:

(1) Restrict some vehicles

(2) Limit the speed of pedestrians

(3) Restrict the speed of all vehicles

(4) None of these

I ST &1 e fed g g &

(1) $2 gl &l Wiasidd 31 & Rig

(2) TemarEal i Ak A

(3) =t areAf = afa &1 wioelid & &
(4) IS & B T

1[Option ID=19813]
2[Option ID=19814]
3[Option ID=19815]
4[Option ID=19816]

Sl. No.84
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Traffic sign 'Overtaking Prohibited' is a

(1) Mandatory sign

(2) Cautionary sign

(3) Informatory sign

(4) Warning sign

Sfiaeefd My &1 gaE dea gl
(1) s da

(2) FEa® d&a

(3) YEAIHS Habd

(4) =l Hea

1[Option ID=19817]
2[Option ID=19818]
3[Option ID=19819]
4[Option ID=19820]

Sl. No.85
QBID:829142460

The phenomena m which the segregation of bitumen and aggregates takes place in the presence of moisture is called
(1) Streaking

(2) Slippage

(3) Stripping

(4) Rutting

Tt # gulkufy & o5 ufvge R fagi= =1 wdte ik aq= (wiie) 5 2, 59 0 S5 &7

1) &Em

(2)




ooy R
(3) fadma
(4) 9AeT

1[Option ID=19825]
2[Option ID=19826]
3[Option ID=19827]
4[Option ID=19828]

Sl. No.86
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The softening pomt of bitumen has the same unit as that of
(1) Distance

(2) Viscosity

(3) Time

(4) Temperature

o= &1 HgF g 9 5o, e A 9 e 5o & s &7
(1) gft

(2) =1

(3) §HT

(4) ©T9HE
1[Option ID=19829]
2[Option ID=19830]

3[Option ID=19831]
4[Option ID=19832]

Sl. No.87
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The Los Angeles abrasion value requirement for concrete used in water bound macadam for the base course is
(1) Between 0 to 40%

(2) Between 40 to 50%

(3) Between 50 to 60%

(4) Between 60 to 70%

T 97 & o0 ooes 999 5% & FHI A WgEa Sedic & arg Ui J9aYu A el el srie
(1) 0¥ 40% & &9

(2) 409 50% & &9

(3) 50 ¥ 60% & 19

(4) 609 80% & &

1[Option ID=19833]

2[Option ID=19834]

3[Option ID=19835]
4[Option ID=19836]

Sl. No.88
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Grading of bitumen is determined by

(1) Only Viscosity Test

(2) Only Penetrtion Test

(3) Only Ductility Test

(4) Both by penetration and viscosity Test
fagd= % Avfieu &t fvws g Fifa s o &2
(1) S0 Tl FHem

(2) Had gy qdiam

(3) Saet Fdr Fem

(4) T TUI WAL &H THAT @ R

1[Option ID=19837]
2[Option ID=19838]
3[Option ID=19839]
4[Option ID=19840]

Sl. No.89
QBID:829142464




Which of the following test is used for bitumen?
(1) Slump Test

(2) Abrasion Test

(3) Penetration Test

(4) Fineness Test

9 & 3 =1 W W fagis ¥ R o 8

(1) o wem

(2) e Higm

(3) dy= gdigm

(4) SHE T

1[Option ID=19841]
2[Option ID=19842]
3[Option ID=19843]
4[Option ID=19844]

Sl. No.90
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The heat given to a substance during the phase change called
(1) Specific heat

(2) Latent heat

(3) Thermal capacity

(4) None of the above

fodit ugref o1 simen 1 oftade $ <R 38 @ T W B W Fd &
(1) fafRy S

(2) T4 FH

(3) Fuig smd

(4) g A 9 BIE A

1[Option ID=19845]

2[Option ID=19846]

3[Option ID=19847]
4[Option ID=19848]

Sl. No.91
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Pump transfers the input mechanical energy of an Engine into
(1) Pressure energy of a liquid

(2) Kinetic energy of liquid

(3) Both 1 and 2

(4) None of the above

et 3o # o Tifie Fuf =1 du fed weialia st 27

(1) &R g B aW Tl

(2) Tt gon 3t i Sl

(3) (1) @1 (2) =i &

(4) S § B8 T

1[Option ID=19849]
2[Option ID=19850]
3[Option ID=19851]
4[Option ID=19852]

Sl. No.92
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Which of the following relations depict relation between Celsius and Fahrenheit
(1) C/5=F-32/9

(2) C/9=F-32/5

(3) C/32=F-9/5

(4) None of the above

5 # 9 219 1 doy IR SR BiEerse | d9y a8

1) C/5=F-32/9




(2) C/9=F-32/5
(3) C/32=F-9/5
(4) SR & § 315 8

1[Option ID=19853]
2[Option ID=19854]
3[Option ID=19855]
4[Option ID=19856]

Sl. No.93
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The Radiation Pyrometers work on the principle of
(1) Newton's law

(2) Stefan Boltzmann's law

(3) Zeorth Law

(4) None of the above

e ymindiex e ¥ 9 e e w1 s &2
(1) =geA = g

(2) wIhA degdd &1 fagra

(3) fard 71 s

(4) Sugad | | BIE T8l

1[Option ID=19857]
2[Option ID=19858]
3[Option ID=19859]
4[Option ID=19860]

Sl. No.94
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Which of the following operaation is/are performed on a Lathe Machine?
(1) Spot-facing

(2) Parting

(3) Reaming

(4) All of the above

o # § = @ e dy aeii= 9 fEa o

(1) wie-BiE

(2) fgHmeH

(3) fgada

(4) TR

1[Option ID=19861]
2[Option ID=19862]
3[Option ID=19863]
4[Option ID=19864]

Sl. No.95
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‘What is the primary function of any "Mechanism'
(1) Power Transmission

(2) Power absorption

(3) Force Transmission

(4) Motion Transmission

&t ot Ffrem & g e & @
(1) =fEg dawm

(2) =rfE @Ry

(3) =a F=wm

(4) w1y S

1[Option ID=19869]

2[Option ID=19870]

3[Option ID=19871]
4[Option ID=19872]

Sl. No.96
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Deformation per unit length is called as
(1) Strain

(2) Stress

(3) Modulus of Elasticity
(4) None of the above
(1) ok

(2) witEa

(3) Wyl A9iS

(4) Sugad | | BIE T80
1[Option ID=19873]
2[Option ID=19874]

3[Option ID=19875]
4[Option ID=19876]
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In an isolated system can be transferred between the system and its surrounding.

(1) Only Engery

(2) Only Mass

(3) Both Energy and Mass
(4) Neither Energy nor Mass

T JyS oaedT [ T ° ot 1ft o / & quT S ME-U W H gEaiG B W aed ol

(1) FHaa Gl

(2) &ad GoUHH

(3) Fuf 7 GogaE gHf

(4) =1 T1 St AR A1 E GoEE
1[Option ID=19877]

2[Option ID=19878]

3[Option ID=19879]
4[Option ID=19880]
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Match the following through Type 1 and Type 2

Type 1 Type 2

Coefficient of -5
A Viscosity (n) L IMLT™

Power(P) IL (vi-IT?

C. |Momentum(m) I (mr-iT2

Modulus of Elasticity

o -1
®) IV. |IMLT

D.

Choose the correct matches from below arrangements
(1) A-IIL B-I C-IV, D-III
(2) A-L.B-IIL C-IV. D-II
(3) A-IL B-IV, C-II. D-I
(4) A-I.B-IL C-III. D-IV




=i 13 A1 Gl 11 D1 T i -
T 1 A I

A [RWAASINS () | L [MLT
B. |=fdd @) L [vr -t
C. |99 (m) . |pp-iT-2
D. |U@=dIAT® (E) | V. |MLT™!
= fou U foeedl § ¥ 9el SR &1 99 Bifuil

(1) A-I B-I. C-IV. D-ITI
(2) A-L B-III. C-IV. D-IT
(3) AL B-IV, C-II, D-I
(4) A-L B-II. C-III. D-IV
1[Option ID=19881]
2[Option ID=19882]

3[Option ID=19883]
4[Option ID=19884]

Sl. No.99
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Which term is used to define the temperature at which a substance changes its status from solid to liquid?
(1) Boiling Point

(2) Melting Pomt

(3) Condensation Point

(4) Freezing Point

HH-91 Teg (€H) a9 BT ufeiftd s & g SuE o o & e R ue e, 3 @ gor s # fafia g g 2
1) TyAS

(2) 7=

(3) T g

(4) feAi®

1[Option ID=19885]
2[Option ID=19886]
3[Option ID=19887]
4[Option ID=19888]

Sl. No.100
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The melting point of Iron (Fe)
(1) 6e0° C

(2) 1084° C

(3) 419° C

(4) 1538° C

(Fe) % &1 ToHi® &1 &7
(1) 660° C

(2) 1084° C

(3) 419° C

(4) 1538° C

1[Option ID=19889]
2[Option ID=19890]

3[Option ID=19891]
4[Option ID=19892]




